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CP Stat Unit 2 Exploring Data Multiple Choice Review
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2. Were the cxtinctions that aceurred in the lasticc age more frequent amon specics of animals with large body
es? A researcher gathers dara on the average bady mass (in kilograms) of all species known Lo huve cxdsted at that

. Thes mesaronens re vt
@5 cammorca o, (iph quaniive bl

(6) an invalid variable. (d)a margin of crror

3. 1n the situation of the previous question, what ar the explanatory and responise variubles?
There is no explanatery-responsc distinction i ths situation,
lacutory: body mass of a species. Response: whether the specics went extinc,
“Explanatory: the ice age. Respansc: whether a species went extincL.
(d) Vxplauatory: whther a species went extinct. Respunse: the body tmass of the speci
(c) Explanatory: the ice age. Responsc: the body mass of a species,

4. An cxample of a categaricul variable is
(@) the nane of the callege a srudent atiends, {b) a student's weight n Klograms,
(6)  student’ class rank. such as 25h out of 364 {d) a student’s sex (tle or femal).

@Bulhm» and {d).

The stack market did well during the 1990s. Here arc the percent total returns (change in price plus dividends paid)
or b Standard & Poors 300 sk index:

The next five questians are rlated to this situation.

5. The medinn return during this period is
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6. The third quartle of these reums is
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Here are hoxplots of the mumber of calories i 20 brands of beef hot dogs, 17 brands of meat
ot dogs, and 17 brands of poultry hat dogs.
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(@hoxplots make it easy o compure several distributions, a in this example

baxplots show more detail about the shapo of the distribution
(&) boaplos use the five-nuraber summary, whereas stemplots and histograms usc the mean and standard deviation
(@) boxplots show skevwed diibutions, whereas stemplots and histogrims show anly symmetric disteibutions.

The main advantage of boxplots oser stemplots and histagrams is
G
)

12. This plot shows that
(2) all pouliry hor dogs have fewer calories than the medin for beef and meat bl dogs

(b) about half of pouliry hot dog hrands hive fewer cafories tran the median for beef und meat hot dogs

ey hot dag type is not helpful in predicting calories, becausc some hot dags of crch type are high and some of cach
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13. We sce from the plot that the median mumber of eslories in a heef hot dog is about
@ eI @5; @139 @129

4. The b nsach borplt maks
o e Ul s cverl by o dta
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(d) the span one swndard doviation an each side of the mean
(#)the span (o standard deviations on cach side of the mean

15. The caloric counts for the 17 poultry brands are:
129132 102 106 94 102 8799 170 113 135 142 86 143 152 146 144

nedian of these vahues is
129 @)132 ©1305 @ @170
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16, The lrst quarile of the 17 poultry hot dog galori ounts is
9% 10 @aa 5 @azs ©15
17. o llstate  alk yon are giving, you wantto make & raph o compare the percents of aduls n several

countrics who have finished university. For exumple, ths percent is 9% in France and 24% in the Uniled States. You
should make 2

BT Ot o @)oo

18, A well-drawn histogram should have
(a) bars.allthe same swidth (b) no spac betvween bars (unless a class has o abservations)
(¢} a clourly marked vortical scale @nu of these.

19. Jorge's score on Exam 1 i his staisics cluss was at the 64th percantile ofthe scores for all students, His score
falls
btween the minimum and the first quartile (B) between e first quartite and the median
etveen the medfian and the third quartile  (d) between the third quartfe and the miximum

20, Which of these statements about (ke stundard deviation s is rue?
(@) s always 0 or posidve.
(b) s should be used to measure spread only when (he mean ¥ is used to measure center.
(6) s a oumber that has no units of measuremen,
) ot (@) (b), but ot (c).
Budbime

Here s a table of the undergraduate enrollment ol u large state university, broken down by

21. To make a correct graph of the distribution of students by cliss, you could use
(a)a bar graph. (B) a pic chart. histogram.
(@ all of 3), (b), and (c). (e) (@) or b, but not ).

22. A bar graph compares the size of the arme forces for Chin, Germiny, Russia, and the
Uniled Stares. To make the graph look niccr, the artistreptaces each bar by a picture of a soldier as tall as the bar.
this graph is misleading bociuse

(a) i’ the wrong Kind of graph — use 1 pic chart instead.
it'sthe wrong kind of graph — use a boxplot instead.
hina's armed forces are tvice as farge as those of the U.S., but the choice of vertical scale can change this to
a5 large or four times a3 arge.

(d) China's armod forces are twice as large as those of the US,, but the area of China's saldier picture is four times
aslarge asthe U picture,
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Hers are the number of hours that cach of a group of students sudied for this exam: n &
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23, What is the mediaagumber of sudy hours? 8o
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26. What is the stangard deviation of the number of study hours?

[ORR] b0 (€372 (4)334 £} 56

27. The duta contain one high outlier (22 hours). Which of your results for the previous four questians wonld change
this were 7 hours nsicad 0F 22 hours? (You do maf nced v caleulate new values.)
{a) All four would change
he mean, the third quarti, and the standard devinion would change.
i mean and the standard deviation would change.
(&) Only the mean would changs.
{€) None ol e four would changs.

20, Whhofsout s o he e o qestons e measrs n bous?
(5 Al s s
@u e s v are measurd n ours,
SETY T
D nly th o et o
(69Nt ol o fouae meved s

29, An outlier will gsually have a large uffect on the
(@) frst quartile ([)mean (€} thind quanite (median () sample sive.

-

51. For a distribution that s skewed to the L, usually
(3)the mean will be Larger than the modinn median will be arger then the mean
(c)the frst quargle wil be larger than the third quartle the standard deviation will be negative
(€} the minimum will b larger thay the muximum —_—
For a distribution that s skewed w the right, usually —
(5the mean will be larger than the median (b) the median will be larger than the mean
{G)the fist quartile will be larger than the third quartile  (d) the scandard doviation will be negative

{€) tho minimun will be lrger than the maximum

33. The five oumbers in the Live-number summary are
(a)the five smallest bscrvations
{b) he five fargest observalions
(c)the mean, Lhe median, the maximum, the standurd deviation and the sample size
) 21,32, %, %, 30d 33,

e medjan, the quartiles, the minimun and the masimum




